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The figures in the margin indicate |
full marks for the questions.

Answer either in English or in Assamese.

1. Fill in the blanks : C1x7=7
et T o7 A 8 -
(a) Vassopressm hormone deficiency
| CAUSES rrerrininnnnn. disease.

. mwﬁﬂ‘iwwc@mmﬁaqqa.
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(b) Contractlon of the heart starts at the
node. _



(c) Léydig cells secrete ....ciceieeessens ‘

hormone.

| @ @A e IR
A ‘
(d) The peptic cells of gastric glands secrete

..................

................. 9 A
fe) e is the protein part of
holoenzyme. :
ISR 1«31 G C AR e L e Fa A K
(/ ‘Bundle of His’ is found in ......cccoeeeee. .
[ESE A % TRIFS |
(G) == G gland secretes luteinizing
" hormone.
e, AR EORAIRIGR T A R I |
Answer in brief : (any four) 2x4=8
v T funl ¢ (Rirerar sifabn)- 2
(a) Define Michaelis constant.
. _3'37351-‘_:15 &R'T 99 fmat
(b) What is chloride shift ?
T et e
() Define synapse.

AR A g e

3(Sem-3/CBCS) ZOO HGRC/G o

(d) Significance of Urea Cycle.

BTRA 5T S|
(e) What is muscle contraction ?
AP R 3feee [ gt ?
Write short notes on : (any three)
e - 5x3=15
o3 (Gt ot 2 (R fofon)
(a) Oxygen dissociation curve
- feem Rared @@
(b) B-oxidation of palmitic acid
AERGS qfRes [ T
(c) Krebs’ cycle
(d) Neurotransmitter
(e) Role of hormones in female reproductive
system.

F-GATOE T SRS AT O |

What is blood coagulation ? Describe in
detail the mechanism of blood coagulation.

. : 2+8=10
3% % Al [ (oo S afer @EmE
7, =R fora
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Or / g4 |
What is digestion ? Explain in detail the
physiological process of carbohydrate
digestion in man. i 2+8=10
AL 62 AR (RO *[I M5 orforatrayy q2e7ia
IR 941 |

5. Describe the mechanism of Enzyme action ?
Write a brief note on Enzyme kinetics.
, - 5+45=10
T iR 361 71 1 S sifeRem s evtes
59 (BI fn o)

Or | g2t
Define action potential, Describe in detail
the conduction of nerve impulse along a
non-myelinated nerve fibre. 2+8=10
fml [ee's 7@ 1 IEfwREN wiyees Siem
FAIR e (M 2IRS 20 7z e

6. What is countercurrent mechanism ? Write

a short note on mechanism Qf urine
formation. - 5+5=10

AR Gire =S 2 g Bestmr effer e s
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Explain in detail the mechanism of Electron |
Transport Chain in mitochondria.
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